

$$\begin{aligned}
& \left(\frac{1}{x^2+2xy} - \frac{1}{a^2-2ab} \right) : \frac{4b^2}{4b^2-a^2} = \left(\frac{1}{x^2+2xy} - \frac{1}{a^2-2ab} \right) \frac{4b^2-a^2}{4b^2} = \left(\frac{1}{x^2+2xy} - \frac{1}{a^2-2ab} \right) \frac{-a^2+4b^2}{4b^2} = \\
& = - \left(\frac{1}{x^2+2xy} - \frac{1}{a^2-2ab} \right) \frac{a^2-4b^2}{4b^2} = - \left(\frac{a^2-2ab}{(x^2+2xy)(a^2-2ab)} - \frac{x^2+2xy}{(a^2-2ab)(x^2+2xy)} \right) \frac{a^2-4b^2}{4b^2} = \\
& = - \frac{(a^2-2ab) - (x^2+2xy)}{(x^2+2xy)(a^2-2ab)} \frac{a^2-4b^2}{4b^2} = - \frac{a^2-2ab-x^2-2xy}{(x^2+2xy)(a^2-2ab)} \frac{a^2-4b^2}{4b^2} = - \frac{(a^2-2ab-x^2-2xy)(a^2-4b^2)}{4(x^2+2xy)(a^2-2ab)b^2} = \\
& = - \frac{(a^2-2ab-x^2-2xy)(a+2b)(a-2b)}{4(x^2+2xy)a(a-2b)b^2} = - \frac{(a^2-2ab-x^2-2xy)(a+2b)}{4(x^2+2xy)ab^2}
\end{aligned}$$

Если нужно по действиям, тогда так:

$$\begin{aligned}
1) \quad & \frac{1}{x^2+2xy} - \frac{1}{a^2-2ab} = \frac{a^2-2ab}{(x^2+2xy)(a^2-2ab)} - \frac{x^2+2xy}{(a^2-2ab)(x^2+2xy)} = \\
& = \frac{(a^2-2ab) - (x^2+2xy)}{(x^2+2xy)(a^2-2ab)} = \frac{a^2-2ab-x^2-2xy}{(x^2+2xy)(a^2-2ab)}
\end{aligned}$$

$$\begin{aligned}
2) \quad & \frac{a^2-2ab-x^2-2xy}{(x^2+2xy)(a^2-2ab)} : \frac{4b^2}{4b^2-a^2} = \frac{a^2-2ab-x^2-2xy}{(x^2+2xy)(a^2-2ab)} \frac{4b^2-a^2}{4b^2} = \frac{(a^2-2ab-x^2-2xy)(4b^2-a^2)}{(x^2+2xy)(a^2-2ab)4b^2} = \\
& = \frac{(a^2-2ab-x^2-2xy)(-a^2+4b^2)}{(x^2+2xy)(a^2-2ab)4b^2} = - \frac{(a^2-2ab-x^2-2xy)(a^2-4b^2)}{(x^2+2xy)(a^2-2ab)4b^2} = \\
& = - \frac{(a^2-2ab-x^2-2xy)(a+2b)(a-2b)}{(x^2+2xy)a(a-2b)4b^2} = - \frac{(a^2-2ab-x^2-2xy)(a+2b)}{(x^2+2xy)a4b^2} = - \frac{(a^2-2ab-x^2-2xy)(a+2b)}{4(x^2+2xy)ab^2}
\end{aligned}$$